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WRITTEN PRACTICE ANSWERS

1 $5.00 − $2.98 = m; $2.02

2 3 × 12 = t; 36 muffins

3 s + 3 = 28; 25 students; 
sample: I subtracted 3 from 
28 and got 25.

4 a. 10

b. 5

c.   5 ___ 
10

 

5 1, 2, 4, 8

6 75

7 91 R 1

8 39

9 $0.72

10 41

11 96

12 $29.92

13 4872

14 560

15 0

16 4436

17 $3.76

18 2010

19 $23.11

20 =, Sample: Since 4 × 10 = 
40, the quantities are the 
same.

21 10

22 8 × 9 = 72, 9 × 8 = 72, 
72 ÷ 8 = 9, 72 ÷ 9 = 8

23 8 squares

24 $1.05

25 500

26 13

27 1156

28

 

  

16

 
  

 ×   4 
}

 

64
 

 
  

 +   3 
}

 

67
  

Sample: Todd’s
 
answer is 

not correct because the 
product plus the remainder 
does not equal the 
dividend.
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WRITTEN PRACTICE ANSWERS

29 B

30 See student work; n = 8.

Early Finishers

$24.75 + $19.75 + ($19.75 × 2) 
= $84; $84 ÷ 3 = $28
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